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QUESTION ONE











[image: image1.png]The following data on annual rates of retur were collected from five stocks listed on the New
York Stock Exchange (“the big board”) and five stocks listed on NASDAQ. At the 10 signifi-
cance level, can we conelude that the annual rates of return are higher on the big board?
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QUESTION TWO











[image: image2.png]A research firm wants to compare the miles per gallon of unleaded regular, mid-grade,
and super premium gasolines. Because of differences in the performance of different auto-
mobiles, seven different automobiles were selected and treated as blocks. Therefore, each brand
of gasoline was tested with each type of automobile. The results of the trials, in miles per gal-
lon, are shown in the following table. At the .05 significance level, is there a difference in the
gasolines and automobiles?
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QUESTION THREE











[image: image3.png]‘The Director of Golf for the Links Group wishes to study the number of rounds of golf played by
‘members on weekdays. He gathered the following sample information for 520 rounds.

Dy Rounss
Wonday T2
Tuestey 2
Wodnesday 104
Thursday 8
Fiiday 120

Atthe 05 significance level, i there a difference in the number of rounds played by
day of the week?




QUESTION FOUR











[image: image4.png]Mr. William Profit is studying companies going public for the first time. He is particularly inter-
ested in the relationship between the size of the offering and the price per share. A sample of 15
companies that recently went public revealed the following information.
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a. Determine the regression equation

b, Determine the coefficient of determination.




QUESTION FIVE











[image: image5.png]‘The inventory tumover rates for Bassett Wholesale Enterprises, by quarter, are:
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T 44 61 17 72
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4. Amive at the four typical quarterly turnover rates for the Bassett company using the rato-to-
moving-average method

b Deseasonalize the data and determine the trend equation.

. Project the turnover rates for 2001, and seasonally adjust each quarter of 2001




